CSM - 20/18
Commerce and Accountancy
Paper —1{

Time : 3 hours
- Full Marks : 300
- The figures in the right-hand margin indicate marks.
~ Candidates s_hould af_tempt Q. No. 1from -
‘Section - A and Q. No. 5 from Section ~ B
whiich are compuisory and three of
the remaining questions, selacling
at least one from each Section.
. SECTION-A

1. Wite short notes on any three of the followingin -

‘about 200 words each : ' N 20%3=60

(a) How does ajob-costing system différ froma
| process—coét_ing system ? '
(b) Whatare the general principles of verification
~ and valuation of assets ?- |
(©) Examine the role of bank credit in financing
of working capital needs. '
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(d)

@

Explain EBIT-EPS analysis. What-is

indifference level of EBIT ? Show
‘graphically. ' '

Calculate the value of goodwill under

annuity-of super profits, from the following

information : (a) Net profit for the last five

years : Rs. 40,000 ; Rs.42,000 ; Rs.45,000 ;
Rs. 46,000 and Rs. 47,000, (b) Capital
employed in the business Rs. 4,00,000,
(c) 'Reasonable‘rate of expected returns on

capital 10% and (d) Present value of annuity

- of one rupee for five years at 10 percent

{b)

@

" interestas Rs. 3.78, . _ .30

Explai'n the capital structure decision from the
polint of view of minimization of risk. =~ 30
A company produces a standard product, The
estimated cost per unitare as follows :

Raw material Rs. 4 per unit ; Wages Rs. 2

_per unit; Variable overhead Rs. 5 per unit.

The semi-variable costs are : Indirect material
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Rs. 235; In‘direct.labour Rs. 156 ; Repairs
Rs. §70. The variable costs per unitincluded
_in semi-variable are : Indirect materials
‘Re. 0.05 per unit ; Labour Re. 0.08 perunit;

: Répairs Re. 0.10 per unit. The fixed costs
are : Factory Rs. 2,000 ; Administration
Rs. 3,000 ; Selling and distribution Rs. 5,000.

| The above_co-sts are for 70 % of normal .
capacity producing 700 units. The selling

~ price is Rs. 10 per- unit, Prepare flexible |
'budget for 80% and 100% normal capacitieé
from thee above information. 30
(b) State the income tax provisions relating to .
set-off and carry forward of losses. 30

4. (a) Preparean audit repoft to the shareholders
ofa company which has not made adequate
provision of bad and doubtful debts and tax
Iiabil&y incurred, though not yetdéténninéi
| - - 30

(b) “Voucherlsthe essence of audit’. Discuss.
30
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- SECTION-B

5 Answer any three of the foi!ounng in not more than
| ZGOwordseach - - 20x3 =60

@

State the significance of the role of the -

- Central Bank as regards credlt controf.

()

()

Why is the cost of capital most approprlately
measured on after-tax basis ? What effect

does this have on specific cost of t;abital 2

What are the merits ahd I_imitétions cf X

o budgetarycontrol‘?

6. (a)

Marrate the deductlons made from the

annual valie of house property.

The management of Fast-Ltd. desires to

knowthe workihg capital réqmred with effect

~ from 1st January, 2014 to finance the

.p'ro_dut;tién programme. Percéntage of

 various elerﬁents of cost of selling prioe are:

Raw materlal 50%. :Labour 20% and

: Overheads 10%.
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" You are informed that : _
(i) 'Raw, materials remain in the stores on
-.oan average for one month hefore _iséue

- of production _
' (u) Fln[shed goods remain in the go- down
| fortwo months before sales.

(m) Each umt of product(on will be in p:ocess
for one month. -
(iv) Creditallowed by creditors is one_f‘nbnth
and aliowed to debfors is two months.
'(\}) Selling price isRs. 9 perunit.. |
(vi) Production in 2014 is expected to be
1,00,000units. = - . 30
(b) ';The contention that dividends have an
" impact on the share price has been -
characterized as the bird-in-hand argument.”
Exptam the essentials ofthis arguments 30

7. (@) The given Balance Sheets are pretsented by
XLt and Y Ltd. on'31st December, 2014
- which -are amaigamated and form
A Ltd
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Liabllities XLtd. Yitd,  Assets Xud. . YLt

) (Rs) Rs)  (Rs)
Equily Shares Goodwll 40000 50,030
RS f0each 100000 150000 Land 30000 60000
General -~ Plantand

‘ Reserve 10,000 10,000 Machinery - 50,000 = 60,000
Profit and Stock 30,000 40,0()0
lossAc 1000 5000 Deblors 30000 40000

Capital B ' ,Cash-and

Reseve 20000 NI Bak 20000 10000
Unsecured B

Loans | 20000 65,000

Sundry e

Creditors 40000 30,000

200000 260000 200000 260,000
Addlitional Information: |

() The shareholders of X Ltd. be allotted
20,000 equity shares of Rs. 10 each_.
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{iiy The éhareho_lders'of Y Lid. be allotted
. 10,000 equity ghares of Rs. 10 each.

~ Prepare {he Opening Balance sheetin the

' bobks of Z Ltd. assuming that (a) the

ama‘gamation in thé nature of purchase and-
(b) Amalgamaﬁon inthe naturéio'f-mergér.

S | 1 30
pital inﬁés{ment is one

rsial ar@a' .
30

13)] "Risk analysis of c@
of the most complex an
 Critically comment.

d controve

in finance’
eenP 1V Ratio and P 1V
h technique hetpful

30

Distinguish hetw
graph. Howis P 1V grap
tothe management?

(b) What do you understan
assets and oY

8. (@)

d by outstanding

tstanding fiahilities ? What are



(i) The shareholders of Y Ltd. be allotted
10,000 equity shares of Rs. 10 each.

Prepare the Opening Balance Sheet in the

‘books of Z Ltd. assuming that (a) the

amalgamation inthe nature of Purchase and.
(b) Amatgamafion in the nature 6f.mergér.

' : 30

(b) “Risk analysis of capital inﬁe‘sfment is one

of the most complex and controversial area | ‘

in finance". Critically comment. 30

8. (a) Distinguish between P /V Ratio and P / V
graph. How is P 7V graph technique helpful
tothemanagement? . - 30

(b) What do you understand by outstanding
assets and outstanding liabiliies ? What are
the duties of an auditor in relation thereto ?

30

3
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